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QUESTION 1

How do you send static routes to a RIP neighbor? 

A. Configure the static route with a next hop of the RIP neighbor. 

B. Configure redistribute static under [edit protocols rip] . 

C. Apply an export policy within RIP that matches on the routes, and accepts it. 

D. By default, RIP automatically sends static routes. 

E. This is not possible, only RIP routes can be sent to a RIP neighbor. 

Correct Answer: C 

 

QUESTION 2

Which two steps are required for RIP to redistribute IS-IS routes? (Choose two.) 

A. create a redistribution policy accepting the IS-IS routes 

B. create a redistribution policy accepting the RIP routes 

C. apply the redistribution policy to RIP as export 

D. apply the redistribution policy to RIP as import 

E. apply the redistribution policy to IS-IS as import 

F. apply the redistribution policy to IS-IS as export 

Correct Answer: AC 

 

QUESTION 3

Which two statements are true concerning the JUNOS software? (Choose two.) 

A. Processes run in a protected memory environment. 

B. Processes are fully independent from each other. 

C. Processes are tightly integrated with each other. 

D. Processes may fail and cause a failure of the entire system. 

Correct Answer: AB 

 

QUESTION 4
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What are three characteristics of RIPv2? (Choose three.) 

A. uses Hello Protocol for neighbor discovery 

B. supports Kerberos authentication 

C. supports VLSM 

D. multicasts messages to RIP neighbors 

E. is backward compatible with RIPv1 

Correct Answer: CDE 

 

QUESTION 5

What are the three components of the ISO NET address? (Choose three.) 

A. N-selector 

B. ISO number 

C. MAC address 

D. System ID 

E. Area ID 

F. AS number 

Correct Answer: ADE 
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